3D Shapes - Answers
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Draws a correct view of the new cuboid using the
isometric grid, eg:

1m

Lines not ruled or accurate.
Accept slight inaccuracies in drawing
Alternative orientation, eg:

Some or allinternal lines omitted, e

‘Some or all hidden lines drawn

Do not accept unless hidden lines are dotted
o otherwise shown as hidden

Extended edges
Condone

Ignore incomplete drawings
Extornal lines omitted
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1728 seen (the volume of the cube/cuboid) m
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Shows or implies a complete correct method, eg:

1212 x 12.= 1440 erron)
1440 = 16 x 6 x height
height = 1440 + (16 x 6) = 15

. 12x12x12:1646
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Award TWO marks for both pyramids ticked
as shown:

Cube

‘Square-based pyramid

Triangular prism

Trangular-based pyramid

If the answer is incorrect, award ONE mark
for:

« the two pyramids and not more than
one incorrect shape ticked
OR

« only one correct shape ticked and no
incorrect shape ticked.

Accept alternative unambiguous positive
indications, e.g. Y.
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Award TWO marks for the correct answer
of9

If the answer is incorrect, award ONE mark

for evidence of an appropriate method, e.g.

* 6x6x6=216
216:6=36
36:4

OR

. 216224

Upto

Answer need not be obtained for the
award of ONE mark.
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Award TWO marks for the table completed,

as shown:

Nummber ofaces.

Number of vertiss.

Number of sdges

12

Award ONE mark for two correct numbers,
correctly placed.

Upto

2m
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Award TWO marks for the correct answer
of 720

If the answer is incorrect, award ONE mark

for evidence of an appropriate method, e.g.

* 3x4x6=72
Bx9x11=792
792-72=

Award ONE mark for sight of 792

Upto

Answer need not be obtained for the
award of ONE mark.
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Award TWO marks for table
‘completed correctly as shown:

oo | o0 |
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If the answer is incorrect, award ONE
mark for two out of three rows

completed correctly

Accept a blank box for 0’
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im  lfthe answer to 20ais 14 AND the answer to 20b.
@ is 8, then award ONE mark for 20b.
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Accept prism.
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8 faces and 12 edges.
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